[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

.................................................

.................................................

................................................

................................................

oy
—#
'r

1.0

Ratio

=

e e AR AR AL AN RARLN LR RALRN RRR LR RRRLN LRRRN LRRR

0.95

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_beforePR
— —e— DQM_afterPR
Efficiend _, _ pQm partialCheck

~0.05 ; ; ; ; ;
P SN RN S S S
» : : : : :
Z0.04F------ AR R i P
> : : : : :
N et RSt SIS SIS SR
S : : : :
b U O e A A IR
o : : : :
0.025F------ R S AR P
IS U R S S S
0,015+ [t o
1T +}+:‘
0.02F - $1-EL Rt 1l
0.008f - b
1.0

Ratio

H
T
-
+

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
% 035
cO 03
;@ 025
0.02
0.015
0.01

o.oosi—----i------:

Qs

Ratio

._.
T
+

F ol i o g o g sebenees

T
-
-

0521510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


